ATS QUESTION BANK

MECHANIC DIESEL THEORY LEVEL-1

Q 1. A four-stroke engine produces one power stroke in ................ / dIR-
WIH I o UH UTaR WIdh Ul HIal §

A). One revolution of crankshaft / a'?$‘\7ﬂqf *» Tdh ddh
B). Two revolutions of crankshaft / FHAMUR & E(Pf qaddh
C). Four revolutions of crankshaft / %$5|Ttl€ F TR IFB
D). Eight revolutions of crankshaft / SHUIR & S TIHI

Q 2. Which statement is not true about diesel engine? / SIad ENE| & Y
# B 9 HYF gl 98 82

A). It is compression ignition engine / g H'lﬂg:f gﬁfQT:f BN %

B). It is spark ignition engine / % s 5@[3’[7{ EUE %

C). It is heavier than petrol engine of same capacity / dg JHIH &HdI ard
UaId 391 ¥ He

D). Its compression ratio is higher than that of petrol engine / SH®I qdld
AU U §979 ¥ STel §

Q 3. In an engine, the length of stroke is equal to ................... / THh 94

#, Qe @) das F g A 7

A). On-fourth throw of crankshaft / %$§|Tt|€ T AT U
B). Half throw of crankshaft / %$3{|qu BT 3ATLT AT

C). Thrice Throw of crankshaft / T SR FHUATUE BT
D). Twice throw of crankshaft / HHAT & g Tl o

Q 4. Where does burning of air-fuel mixture take place in a petrol engine?
/9T 99 arg-3y= Yo H8f S 22

A). In engine cylinder / 394 dsy ®

B). In inlet manifold /3=r€r‘c’ Ifwie o

C). In cylinder block / Rdsy e A

D). In exhaust manifold /Q‘G\TJE afRwiE |



Q 5. What is the purpose of providing a ratchet stop on a micrometer? /
TP AISHIHCR IR YT WY Uard HI9 BT 35T T 872

A). To lock the spindle / ‘g[ﬁ DI &G HIAT

B). To adjust zero error / Y ¢ &I FHIAINTT BT

C). To control pressure on the workpiece / S Y U qdrd & [EEAd S
D). To align the workpiece / gHUg & WR@T B3I

Q 6. What is the minimum measurement that can be taken by a steel rule?

/ gATH A /1 2 S K GA g fran o g g2

A). 0.50 mm / 0.50 TH. 9.
B). 0.05 mm / 0.05 f&. 4.
C). 0.02 mm / 0.02 & 7.
D). 0.01 mm / 0.01 TH. .

Q 7. The tool used to check the squareness of a surface is ............ / feat
qdg &I IMHIRT DI FI= & AT S} fHar S are IUHR ... B

A). Slip gauge / @ 7

B). Bevel gauge / CENEIS]

C). Divider / fqHTSI®

D). Try square / aa% Pl ‘Iﬁftﬂ

Q 8. Soft solder contains lead and ................ / Hg cer A iR q
g Bl |

A). Copper / didl

B). Tin / fe7

C). Aluminium /Q@ﬁfﬁqq
D). Silver / Fidt

Q 9. Which among these flames gives the highest temperature? / g

sarareli § 4 S ge9Y s auHT ¢ 72

A). Oxy-hydrogen flame / &ﬁlﬁ-ﬂg_@\_ﬂ:{ o



B). Oxy-propane flame / SfTE-WaT ot
C). Oxy-LPG flame / aﬁ’ﬂﬁ-qaﬁ\—sﬁ ?‘ﬁ
D). Oxy-acetylene flame / Gﬁﬁ—({ﬁfﬁf‘ﬁq o

Q 10. The tool shown in figure given below is used in sheet metal working.

It is called .....ooo.... ) " feu e I3 # fT™WIT 1T IUHIU HT IUAT e
NP PHAA T TARN TS PRI AAR ...
BLio;__________-_—_—-——-—_‘_—‘_-_'j'_‘fi_.'?-_—_t_:i
E_{”: -__;;;,C_—::_- STOPPER HANDLES

OVER ALL LENGTH

- -

A). Scissors / %Eﬂ

B). Cutter / X

C). Snip / & dXd

D). Trimming tool / Eﬁm 3SR

Q 11. What is a mallet made of? /'E[@IE fog e I 91 S\Idl %?

A). Lead / I

B). Brass / iG]

C). Hard wood / d%d F‘f$31
D). Cast iron / eddi ?ﬁET

Q 12.In a diesel engine, where does the mixing of air and fuel take place?

/ SIS 99 H, a1g SR YT &1 {0 Hgl gram g2

A). In the carburettor / Wﬁﬁ'?? H

B). In the injector / '&'@TTET H

C). In the combustion chamber / G871 P & "
D). In the inlet port / 's’:f@f?f e o

Q 13. Where are the ports provided in a two-stroke engine? / Eﬁ—@$ _5"5{'_‘[
# U<y & Hgl uer fHar orar g2

A). In the piston / fUwea

B). In the cylinder wall /ﬁ[ﬁ_{{? ad |
C). In the cylinder head /ﬁ[ﬁgq o A
D). In the crankcase / SHHY H



Q 14. What are piston rings made of? / U & 3 foad 99 ?ﬁ?f %?

A). Cast iron / eddi F‘ﬁBT

B). Steel / HId

C). Aluminium alloy / Ea;ﬁrﬁtm firy Yrg
D). Copper / GG

Q 15. When does spark plug fire in Sl engine? / Q’Hx’rﬂg S| o W @
&9 Usafard giar g2

A). Just before piston reached BDC / fUwd & 3% BDC Héltl'}l q L4IE§Q?1
B). Just after piston reaches TDC / U & 31 TDC t{‘é’%r?r & diq
C). Just before piston reaches TDC / fUwT & 3t®d TDC U‘g\”ﬂer I t{‘s’@r
D). Just after piston reaches BDC / fUwq & 3% BDC U‘é’aﬁ & diq

Q 16. What parameter can be measured by using multimeter? / AectHiex
H ITAT HIP [T ATAGTS P AT o Gl g2

A). Voltage / A

B). Current / HIT

C). Resistance / ufady
D). All of these / I gt

Q 17. A transistor has .................. / Th ET%TE? =
A). One PN junction / T PN SaRIT

B). Two PN junctions / Eﬁ PN SR

C). Three PN junctions / T PN STaRTA

D). Four PN junctions / @R PN SR

Q 18. What is the total resistance of the circuit shown in figure given

below? / =9 3T Y frF & i@y v wfdhe &1 oo ufady T g2

A). 12 ohm / 12 3fiH
B). 18 ohm / 18 3fI1H



C). 24 ohm / 24 31H
D). 30 ohm / 30 3fIH

Q 19. What type of circuit is shown in figure given below? / EIE] %Q Ry
fa3 & fo9 gerR &1 Afee fe@man a1 g2

e

[=

A). Series circuit / ?ﬁﬁﬁ gfhe

B). Parallel circuit / JATATGR gfbe

C). Series - parallel circuit / TR - gATAIAR gfhe
D). None of these / Sr:fﬁ I a?r‘s‘ :[Epf

Q 20. What are the factors on which the resistivity of a conductor
depend? / O BT I BRP g o4 U b dl Ira® &1 gfadysmar HUR g2

A). Length of the conductor / dldd i (*1'®II‘$r
B). Material of the conductor / dIcd® DI gare
C). Area of the conductor / dTAD B[ RELANY
D). All of these / T gt

Q 21. How many coulomb of charge flow through a circuit carrying 10 A
current for 1 minute? / fhe & AT ¥ 1 {AT & AT 10 A FT HIT 984
HIA AT AN & fhdd FAW YaIfed gid § »

A). 10
B). 60
C). 600
D). 1200

Q 22. Four capacitors each of 40 uF are connected in parallel. What is the
equivalent capacitance of the system? / AP 40 uF & IR AYTRT gAT=aR
A 93 g gt & guge urfar @ g2

A). 160 uF
B). 40 pF
C). 10 pF
D). 5 uF



Q 23. The cylinder block of an automobile is normally made of
................ / AAHITT T RIS sl THI ¥U 4 ¥ 1 gl

A). Aluminium /Qc_'ﬁrﬁﬁqﬂ
B). Cast iron / eddi ?IBIET

C). Steel / SHId

D). Wrought iron /ﬁ'c'aTw F‘ﬁET

Q 24. Which one among these is not a component of engine cooling
system? / SH ¥ DI 1 §99 [T YUMA BT TP U 8l 872

A). Radiator/:{’%ﬁ_@?
B). Pump / UU

C). Motor / e

D). Fan / Ul

Q 25. The type of bearing used for connecting rod main bearing is ......... /
HAfRT IS G-I 9aRT & AT gAT g1 aren SaRT &1 gHR §

A). Plain bearing / T 9gfkT

B). Ball bearing / grd 9gfRT

C). Needle roller bearing / fsd JAax daikT
D). Taper roller bearing / TR AR 9gfT

Q 26. The quality of diesel oil is represented by .................. / ESNGE
CARIVEK] T g ot g

A). Octane number / 3ffgeT BT
B). Cetane number / e g3
C). Calorific value / FAr arg
D). Density / Ydd

Q 27. In a diesel engine, turbocharger is driven by ................ / Sivd BN
H, catare? g1 Iarfard gidr g |




A). Camshaft / a’THQ'ITt.F_C'

B). Exhaust gases / ECARKIE

C). Incoming gases / yash ag

D). Lubricating oil pump / ﬁ[$:ﬂ§ AL

Q 28. The lower portion of a piston is called as ............... /

f@® HEI ol g |
A). Sleeve / g

B). Skirt / ¥HT

C). Land / de

D). Dam /%I[

Q 29. The type of engine layout shown below is ................. / o fomran
T S99 AAMTIT BT UHIR gl

N8 b
A). Horizontally - opposed / gfﬁﬁf - HIH@—@IH
B). In - line / S - dIgd
C). Radial /i’%qa
D). V

Q 30. If an engine valve opens late, what technical term is used to
indicate this? / I ST &1 TS dTcd o & GAdl &, A STDI YgHd I &
T S8 dHND! Asg WA a1 arar g2

A). Lead / WS

B). Lag / AT

C). Delay / fsa
D). Retard /ﬁET_Sc

Q 31. The internal diameter of engine cylinder is termed as .............. /
g9 sy & sfaRes g &t CaAC IS
A). Bore / IR

B). Hole / @'3



C). Slot / &Wlc
D). Groove / il

Q 32. The operation of forcing additional air under pressure in the engine
cylinder is called ............ / $999 RdER ¥ gad & dgd Sifdfived ga1 &t
yhdad ot fbam s HEl ol B

A). Boosting / Q%‘T

B). Pressurising / cdld

C). Supercharging / ﬁq?%ﬂﬁrfﬂ

D). Scavenging / TH AT

Q 33. What is normally the colour of exhaust gases from a diesel engine? /

S99 397 A Reda aret A7 &1 3T 7T 82

A). White / 9% E
B). Black / &Idl

C). Bluish / FIamy
D). Violet / ST+t

Q 34. Where are injectors and heater plugs located in a diesel engine? /
3I9d 979 H golde iR ger @7 &l fRyd g g2

A). On the crank case / $F HI U

B). On the cylinder head / fafeisy fid uz
C). On the cylinder block / ey sdie ux
D). Near the valves / dlcd > Uy

Q 35. Which among the following lubricating oils has the highest

viscosity? / Fufafad fe=1s ard dol & I S a9 yfys FRufruryq
glar g2

A). SAE 80
B). SAE 50
C). SAE 40
D). SAE 30



Q 36. Which of these elements needs to be eliminated to prevent fire? /

3T B Ab= P 1T 397 A {5 I Bl g1 B MIWH Al g2

A). Nitrogen / :ﬂ_&'@\_ﬂ:f

B). Oxygen / NIENE

C). Carbon dioxide / T4 ST AT
D). Argon / 3t

Q 37. What should not be used to put off fire from burning liquids? / Sdad
U X ¥ @ 31T I g1+ & AT F1 g 87 fopar S @nfgue

A). Carbon dioxide / BT SIS HFATZS
B). Water / ar=t

C). Foam / HIg

D). Dry powder / Wl UI3SX

Q 38. Why is it necessary to keep exhaust pipes of a stationary diesel
engine covered with insulating material? / T S5 d S & digX EEa
UISY B! AYF AW T eHA1 R ISP g2

A). To conserve heat / 3 THI G g3féra 3G & %Q

B). To increase engine efficiency / 5"5{7-[ Q&dl aaﬁr G %Q

C). To reduce heat transfer to engine room / S99 B g H arg ESIGEL &I
®H B & U

D). To keep exhaust pipes warm / EEaY gl Uiy &I TH 3@ & %Q

Q 39. Other than CO2 fire extinguisher, which type of fire extinguisher can
be used on electrical fire? / CO2 JfEmas & NNICIE 59 ysR &
AAMHF T IUAT IS B 3177 U fHar o gHdr g2

A). Foam extinguisher / WA AMHD

B). Dry chemical extinguisher / R[t&b YHIY RTHD
C). CTC extinguisher / CTC RTH®

D). Soda acid extinguisher / ST 3T AMHB

Q 40. A file should be used only when fitted with a wooden handle,
otherwise ..../ T ¥dt &I SUAT wad a4t fbar S1=1 91fg T 519 98 dd el &
ST & WY I 7Y, AU



A). It will be difficult to grip it properly / 3@ 3H T UhgHl H%a _E?TTIT
B). It will not give good surface finish / dg ddg Pl 3= AT :ré’f ?{Tﬁ
C). It will pierce in your hand / 9@ 3MY®H E'Wﬁﬂ‘l-[ \_YITQTﬁ

D). It will prevent cutting of the metal / g Uld P! Hled I B

Q 41. To ensure maximum stability, how should you position your feet
when lifting load? / TG IH YR gAYT HI9 & fag, srudp! wR I31d
Y U+ U & HY 3@ AgY?

A). Keep your feet together / 3y A & Tdh 41y LEC]

B). Keep one feet in front of the other / Udh T B QH% &% Ira+ 39

C). Keep your feet apart and on toes / 3T I BT AAT 3N YT Bt Iferar
ERREC]

D). Keep your feet apart and flat on the floor / AT U BT AAT TG 3R
%Y UX gUIe 3d

Q 42. When moving a heavy object manually, what is the optimum height
at which it should be held? / SId U HIRI a¥] DI g1 I TrHidRd fbar
STdl g, A 3YAH $AS A1 g Y UR 39 UHS W1 Afgu?

A). Shoulder level / &8 & ¥ U
B). Waist level / ®HY & WX UX
C). Head level /ﬁf?% RNEECES

D). Knee level / ‘QE%% X UX

Q 43. Decible (db) is @ unit of «.ooovvvveeeeerennn., / SRTT (db) P

gy

A). Light / UHIX

B). Sound / T4l

C). Frequency / &rrqﬁr

D). Electromotive force / ﬁ‘cgga YHIdT dd

Q 44. Class A fire means fire due to .........evvne.. / Ut A 3T BT YUY
& HIR I 3T T ]|

A). Wood /a$3°r



B). Chemicals / XHIId
C). oil / 9@
D). Transformer / E\Tﬂtb—[ﬁ?

Q 45. What is normally the point angle of a centre punch? / U &% Ud &I
qraTad: g S 1 g ]2

A). 45°
B). 75°
C). 90°
D). 115°

Q 46. The purpose of drilling a hole between the crankshaft main journal
and crank pinisto ................... /%$Q1TCEH@ NETY 3?[? zf)Oh o9 & &g
TH B¢ ST I & 35 A

A). Lubricate connecting rod bearing / v EXS SR @ R S
B). Reduce weight of the crankshaft / SHUYE BT HIRX HH BT

C). Reduce vibrations of the crankshaft / FHIMTE & HYT Bl HH BT
D). Balance the crankshaft / ST &I Fgfad BT

Q 47. What tool should be used if a precise amount of torque is to be
imparted to a fastener? / gfe BIEeR B Th gdls AT § A &—n % ar
{9 IUBRU &1 IUAIT fobar S Arfgu?

A). Ring spanner / @R

B). Torque wrench /a?ﬁ R=

C). Adjustable wrench /ﬂma‘m R=
D). Air ratchet / QHTS\’E[_C’

Q 48. Which tool is used to finish and enlarge an already drilled hole? /
Ugd ¥ 8 f3d fHT T ¢ & IS T S 3R 981 HI4 & AT fFg
TSR & IUAIT fHa1 S1am g2

A). Die / T3

B). Tap / %t[

C). Reamer / JAT
D). Borer / W



Q 49. Why are crankshaft bearings made in two halves? / SHAT SR
o 3 Rwl o i 9ran oran g2

A). Because they are easy to replace / i G’% gfaxyrfud &A1 A %
B). Because they are easy to manufacture / i EREdl fafor erar= %
C). Because their rate of wear is less / Hifhk 396 g BI Y DPH %

D). Because they cost less / FHife sﬂohnl B HH Eﬁ?ﬁ %

Q 50. What does a tachometer in diesel engine measure? / SISd g9 H
cHIUeR 1 AU g2

A). Fuel consumption /éuqﬁ@tra

B). RPM of the engine / 99 DI 3ﬂ?tﬁ1—{q

C). Pressure developed in engine cylinder / 39 s # fowfig gl
cdld

D). Temperature of exhaust gases / g A9t &1 argAErT

Q 51. Where is oil sump located in an engine? / S99 ¥ dd &I ATdera $€sf
fRyq gia &2

A). At the top of the cylinder block / fds sfe & iy uv

B). At the bottom of the crankcase / FHPT F dd U

C). In a separate unit away from the crankcase / $HHT I gX Udh A
e o

D). Adjacent to oil filter / ad ey & R®e

Q 52. In an automobile, the crankshaft transmits torque directly to

............. / T SIS H, FHUH e I AY d% Ufd S

A). Propeller shaft / FIEGERILS
B). Differential /ﬁs’uﬁﬁrtra

C). Road wheels / HSh U%Tﬁ
D). Flywheel /wiaﬁa



Q 53. What will be the effect of increasing the clearance volume in an

engine cylinder? / Tdh ESE| Rregy d§ Ao o aran a’?.zﬁ wl KT UHId

gITm?

A). Compression ratio will increase / F'[tﬁ_s,':f STurd | ?1’@ Eﬁ‘ﬁ

B). Compression ratio will decrease / F'[tﬂg:f STurd peficops | E?f‘ﬂ

C). Air-fuel combustion will be incomplete / ?ﬂg-é?ﬂ o YT @m

D). Compression temperature will be excessive / fotﬁgq GICE G IRED E:P[
SITET

Q 54. A thermostat is provided in engine cooling system. Its function is to

....... / S99 NddT yonel § TP YHIR T eI fbar 91dl 21 SqHT H1Y §-

A). Keep the engine cool / S BT 33T IGHI

B). Keep the engine warm / S99 CARIERECE|

C). Keep the engine hot / 399 &I dW I@]

D). Keep the engine at the desired temperature / 39 P! gifesd argATT U
BRI

Q 55. What is used to check oil level in engine sump? / 99 W ddd &
WR P g & AT 1 9T A S g?

A). Oil pressure gauge / dd ard a9
B). Plastic gauge / @fie® I

C). Dipstick / fsufes

D). Feeler gauge / LAGERII]

Q 56. What does detonation in engine lead to? / ESE o a9y 9 BPR_‘H %?

A). Late starting of engine / ST DI é’? q Y= Ewpf:ﬂ

B). Leakage of oil / a9d &1 Rarg

C). Knocking sound from engine / S5 I dcyWcdlgc BT 3TATS
D). Stopping of engine / S9- Bl THI

Q 57. Which of these can enhance life of cylinder block? / E':Tff T HIT AT
RIds sdie o Sigafy & 9¢1 g&dl g2

A). Application of phosphate coating / BT AT B G-l



B). Insertion of cylinder liners / fafeis? ?ﬂ_a"_‘fﬁw fady
C). Application of chromium coating / HIFTH AT B G
D). Imparting heat treatment / HBH JUTR ol

Q 58. Which of these is (are) accommodated in cylinder head? / fafisy
MY F 3797 T 7 gEwAfId ar/ad g8/8°?

A). Connecting rods / garoh EX]

B). Valves and injectors / dlicd 3R '&'@TEE'?
C). Oil sump / qd BT AT

D). Crankshaft / FHUU

Q 59. Which law applies to the working of hydraulic brake system? /
gIZSIfI® S% YUNel & Hrdara ux Sia9r a9 @ gidr g2

A). Charles' law / I BT I

B). Lami's theorem /FITIﬁ &1 URY

C). Bernoulli's principle / ATl & Rrgia
D). Pascal's law / UT%hd &I FIH

Q 60. What does the symbol given below represent? / W= fear a1 e
o7 gufar g2

_<Q_

A). Shuttle valve / RICcd dled
B). Check valve / ECECIG]
C). Relief valve / Rt area
D). Globe valve / TS ared

Q 61. An engine gets overheated. What is the probable cause? / Udh ESE
yafis mH g wrar 31 Yuifad R | g

A). Piston rings are worn out / e R g gl %

B). Water pump is faulty / =l gg a‘mga«‘—r %

C). Tappet clearance is excessive / ¢fue P srafds %

D). Pressure relief valve is defective / qdld Rt areg @I9 %



Q 62.In an engine, the starter motor is located at the ................. / Uh

I H, WX WS ___ X fyd gt ' |

A). Front side of the engine / 3919 & 3T B AV

B). Rear side of the engine / S99 & WY o dVB

C). Near the intake manifold / §%$ ﬁﬁqﬁ@' & Uy
D). Near the exhaust manifold / I{Wﬂﬁf ﬁﬁth;fc_s' & Uy

Q 63. What is the type of scavenging shown in figure given below? / G

feuw 73 7 & <wiv 79 IR B T UHR 72
CaD

A). Loop scavenging / U W afSiT
B). Cross flow scavenging / H1Y el TWhdfoiT
C). Uniflow scavenging / qﬁrw‘r TH I IT

D). Parallel scavenging / JHIX WH AT

Q 64. Which term describes the process of testing a FIP for its accuracy of
supplying fuel at correct intervals? / DI I RIS ﬂfﬁ 3dd UR _ﬁe‘i{:f Pl
MYfd B3 Bt TAFT & [T THNSH & gervr &t wihar &1 guia FHIal g2

A). Pumping / gf|iT

B). Servicing / gfafim
C). Calibrating / CANERE
D). Phasing / a’TﬁﬂT

Q 65. The resistance of an open electric circuit is ............c.v.... / b NgT
zafdes S wrufaly a3

A). Very low / dgd g
B). Very high / dgd 3=
C). Zero / YA

D). Infinite / JuRfaa

Q 66. A lead-acid battery is being topped up frequently. What does it
indicate? / T% AS-TRTE 98 & (X U A1 8| T8 59 iR fra &



87

A). The battery is being overcharged /%Eff P 3MaIATS fhar o gl %
B). The charging rate of battery is too low / ST @t =i X dgd v H %
C). The electrical system is shorting to earth / ﬁﬁ"ﬁ?‘f PLIK]] ﬁiﬁf Bl Vs gl

g

D). The battery separators are not sealing the cells / s Rwres A9 B
Hra 98 I B &

Q 67. Which of these is a temporary joint? / 37‘Tﬁ J DI I Udh 3Tyt Gﬁ‘s’

87

A). Welded joint / CIGE] \_rﬁ_s'
B). Soldered joint / qIEs Gﬁ‘s’
C). Riveted joint / A9 Gﬁg
D). Press fit joint / Uy fise \_rﬁg

Q 68. Acetylene gas is produced by adding water to ............... / Qﬁﬂ%?ﬁq
T 7 o frarey g et 71

A). Sodium chloride / GIf$TH FIATS

B). Calcium chloride / AR ?ﬁﬁﬂ'&'_s'
C). Potassium chloride / e g aa‘rvrs's
D). Calcium carbonate / %%ZTHI[ CAGIEK

Q 69. A cylinder containing oxygen is painted in ................ / NIENIE] Yad
TS Rdsy @ __ # 3 o g

A). White colour / Jwg 3T
B). Green colour / 8XI 37
C). Red colour / dld 37

D). Black colour / &Tdl Cgll|

Q 70. Which one of the following types of engines has the longest
crankshaft? / FEfifed & § 5T gepR & 99 & 999 dd1 HHIATE gral g2

A). Radial engine /%%Ha EE
B). Vee engine / ar EE]



C). Inline engine / SIS Bk
D). Horizontally opposed engine / f?[ﬁf\_ﬂ PRy JHY Ml ESE

Q 71. The ratio of BHP and IHP of an engine is called ............... / T&H 3949
& BHP S IHP & AJUTA BT HEl STl B |

A). Engine efficiency / $99 Pl g&dr
B). Mechanical efficiency / JifA® q&dr
C). Thermal efficiency / ST gedr
D). Power efficiency / UTdRY q&dl

Q 72. An engine has a clearance volume of 100 cm?3 and swept volume of
800 cm3. What is its compression ratio? /TUdh 94 T 100 9H® 30T 800
Qs B WY AT A B 1 YD AWIT T A g2

A). 10:01
B). 9:01
C). 8:01
D). 7:01

Q 73. The length of mini cars is upto ................ / Bt ODIQ\l.a’ﬁQ'NGIIi:
_____ d% gt ¢ |

A). 3400 mm / 3400 THH!
B). 4000 mm / 4000 TH#
C). 4500 mm / 4500 fH#!
D). 4700 mm / 4700 f&#h

Q 74. Maruti 800, Alto and Santro cars are examples of ................ / Arefd
800, Sffeel MR A IR ___ ¥ ITTEI § |

A). Estate / Q@E

B). Van /3=r

C). Hatchback / %%ré$

D). Sedan / I



Q 75. Identify the equipment shown in figure given below. / CIE] ﬁq R
foa ¥ faQe 717 IUHIOT &1 ygdrd &1 |

v 1
—lTo"o
A). Chain lift / 99 [iIte
B). Forklift / ACAN L

C). Vertical lift / géfed forue
D). Mobile lift / HISI3d fawe

Q 76. When crankshaft rotates, which part splashes oil to the bearings
and cylinder walls from the oil sump? / od %$QIT1R' YHA %, Add &
T § 3R R i drak g S99 4T dd FsHd 82

A). Spoon / ¥

B). Cup / @0

C). Dipper / feux
D). Scooper / ¥pUX

Q 77. What is the type of head shown in figure given below? / CIE] %Q g
o & f&g gerR @1 <Y femma 1 82

4

A). L - head / L - Tfief
B). T- head /T - 2fi
C). F-head/F -2
D). I - head / I - T

Q 78. What personal protective equipment you need with facing hazards
like fumes and dust particles? / YU 3R YT & HUT S AR BT AHAT HIA
& T oMUl for e fdqTd YR&m IUBRUN BT MTTHA 82

A). Helmet / %’af{?f

B). Goggles / dRHT

C). Nose mask / AT DI HIXDH
D). Ear muff / I HB



Q 79. What does 'COMA' with reference to first aid mean? / myHs

rfecr & deui 7 prar &1 |/ A g2

A). Bleeding / g dg-l

B). Head injury / Ry gz Aie
C). Breathlessness / I Bl
D). Unconscious / ée‘rw

Q 80. For disposing off waste material like 'paper' what is the colour of
the bin used? / 'S WY JURT ugrd & Fued & g, fFa I &
FSIA HT IUAT fhar Srdr g2

A). Green / BXI
B). Blue / i@l
C). Yellow / IK]]
D). Black / Tdl

Q 81. A fire which involves flammable liquids like petrol or paint thinner
is classified as .......... / TF 17 forg# Ui ar de AR o saaa=ha avd
gerf @ @a g __ % ®U ¥ giifed fear orar g

A). Class A fire / Ut A 3T

B). Class B fire / 4Ufl B 3117

C). Class C fire / ft ¢ 37

D). Class D fire / Ut D 3T

Q 82. One micron is equal to .................. / b IIT“&'EIOJF[ __________ &
ERERES GRS

A). 0.1 mm /0.1 @

B). 0.01 mm / 0.01 f&#h

C). 0.001 mm / 0.001 fHH
D). 0.0001 mm/ 0.0001 THHY

Q 83. Identify the tool shown in figure given below. /:ﬂ%f ]%Q T CEE:]
fe@re ¢ IUHIU B U |




A). Tap / L)

B). Tap extractor / ?fq ga@;?ﬁ?
C). Die / SIS

D). Die nut / 3T§ qc

Q 84. Which of these is a marking tool? / 3'_-fff I I g7 Udh 3{Hd IUHI
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A). Mallet / AFH S BT AT
B). Scratch awl /@75{ g 3T
C). Stake / E\Epf

D). Snip / @ dXA

Q 85. In arc welding, the source of heat is electricity with the

characteristic ..../ 917 df&T #, & TUT &b WY Y BT Wd faSTelt giat
gl

A). High ampere, low voltage / 3= Qﬁi[q?, IBE] qrees
B). High ampere, high voltage / 3= T\Tﬁi[q?, 39 dieew
C). Low ampere, low voltage / IGE| Qﬁfq?, g ey
D). Low ampere, high voltage / g Qﬁi{q?, 39 dice ol

Q 86. Which of these is a type of fastener? / s"lal' I HIFI §Y B (PTXCHR)
BT TP JPHIX &2

A). Rivet / PIAD

B). Pin / fUH

C). Key / EIE]]

D). All of these / T gt

Q 87. Bar'is a metricunitof ..................... / "dR!

3|

A). Volume / HTTdd



B). Pressure / ald
C). Stress / d-ld
D). Temperature / dIUHIA

Q 88. Pneumatic actuators are device which convert pressure energy of
compressed air to ........... / ITgdIg yade fgarsy g of 9Uifesd gar &) garg
Sl @ # gfafdd #3d g1

A). Electrical energy / ﬁﬂ:ﬁﬁ S
B). Mechanical energy / gifi® ol
C). Magnetic energy / %;raﬁtr St
D). Thermal energy / ST ol

Q 89. What type of filter is used if particles of ferrous metal are required
to be removed from hydraulic fluid? / gfe 613@1%{65 a9 q F‘ﬁ%’ Yrd *» HON
&I ABTATT TS g @ fFY THR & Beex & U fbar Sran g2

A). Mechanical filter / AHAHd fhwer
B). Absorbent filter / gt flheex
C). Adsorbent filter / STt e
D). Magnetic filter / gwaﬁq flheex

Q 90. What is required to be fitted to engine piston to ensure a good seal
with cylinder wall? / RIdSY & ok & Y TH =B did AHT HIH &
fore 99 T U 1 qmar o1 SIS Bl 82

A). Gasket / ?R%TC'
B). O' ring / 'O’ T
C). Piston rings / U R
D). Piston pins / U fuA

Q 91. Which part of the engine makes oil pump to run? / S &I I
I STd U Bl Iardm 82

A). Crankshaft / %$’-‘2'|T1}E
B). Camshaft / %HQITT}E
C). Valve chain / did CEl
D). Push rod / Yl RUES)



Q 92. Which type of air filter is most effective for use in diesel engine? /

S99 399 H IUAT F 1T 5T PR &1 I ez Iad yHIdt g2

A). Wet type / 9T UHIR

B). Dry type / E,:Tg UPhIR

C). Oil bath type / ATIA dIY YhIX
D). Whirl type / Id UPBIR

Q 93. What signifies capacity of a diesel engine? / Siold e Pl &HdI Ca
a1 afofq st g2

A). Number of cylinders / Rdsd ot @

B). Length of connecting rod / Tareit EXS P amns‘
C). Total swept volume / Pl YHIG HIAT

D). Compression ratio / H'tﬁg:f STUrd

Q 94. Which statement is not true about two-stroke engine? / Eﬁ@$

99 & IR H 1T I YT g 8 B2

A). It has no valves / 398 ®Is ared gl oidl §

B). Its crankcase is not sealed / SU DI sPHY I '_'TéT fooar ar %

C). It completes one cycle in two strokes / % Eﬁ raral o Udh deb YT
BT &

D). It fires every time piston reaches top of the stroke / X €I} U g

Wie & MY U3 U9 UR Ig ysaferd grdl @

Q 95. Based on system of ignition used, a diesel engine is also called

A). Self-ignition engine / W-ysaferd ESE

B). Compression-ignition engine / YWE-Usddd 94
C). Air-ignition engine / dIg-Usdd - g\_r[-_-[

D). Airless-ignition engine / dlg%l%d—u\rdm'-l é\vl-l




Q 96. Which of these is not one of the ports provided in two-stroke
engine? / 38 ¥ &9 1 -IH 399 H Ul fHT 77 AT # § ux 98 72

A). Inlet port / S':T@TE’ e

B). Auxiliary port / o ferat e
C). Transfer port / cI-4WHR e

D). Exhaust port / Q‘GﬁE e

Q 97. Which of these gives the correct sequence of four-stroke cycle
engine?/3AH ¥ DI I IR-TIH A3fHT 9 BT I 3IHH <al §

A). Induction, power, compression, exhaust / frw, QT%T, {-il-{nls_ﬂ, BEAE:
B). Induction, exhaust, compression, power / ﬁrw, i-'\‘IOhI{-I, %iunls'-l, Trfad
C). Induction, compression, power, exhaust / ﬁw, ﬂ'fﬁ_sf:f, QT@T, Ao
D). Induction, power, exhaust, compression /ﬁrw, QT&T, i-\10|'>I{-I, {-iblhlﬁ-l

Q 98. Name the engine part which 'carries' the engine over during non-
working strokes. / S & 39 G &1 19 A o AA-T(H 7T LIH &
QA 99 B A HIAT 2|

A). Crankshaft / SHIMYT

B). Flywheel / Wg%)[a

C). Connecting rod /H'th\_rﬁ EX]
D). Camshaft / %ITQ'ITU'E

Q 99. In the figure given below, the difference in diameter Dmax and Dmin
of a pipe is called ..... / W= ﬁq R EEl f[ Tdh Tigy & Dmax 3T Dmin 1Y
7 sfav HEATd g |

.
P |
V- 4 S
—t = —idm
D

A). Taper / TUR
B). Ovality / 3{STHIRdI
C). Slant / fld
D). Deviation /ﬁ%r?«r:r



Q 100. What reciprocates in engine cylinderis ................... / S99 fafeisy
o S 3SA-94d HIAT ¢ I8 ©-

A). Piston /ﬁE:T
B). Journal /G#ﬂ
C). Liner / dIgX
D). Ring / 1

Q 101. The end of the connecting rod which is joined to the crankshaft is
called..../ FHIMTC I JST ST B8 B A HEATd |

A). Small end /@:fET B3R
B). Big end / ISl IR3EY

C). Wide end / E?IET B3R
D). Narrow end / |7l 2R

Q 102. The camshaft rotates once for every .................. revolution(s) of
the crankshaft. / HHIAMHE & TIAD TFHI U HAWYE TH R gl

3|

A). One/ U
B). Two/ &

C). Three / GG
D). Four / dI}

Q 103. Engine valves open in relation to movement of pistons. What is
this called? / U & I9TT & Yoy H S99 & dled GAd ¢ | I FT HEl
ST B2

A). Valve calibration / dled K
B). Valve phasing / dled %%PT

C). Valve timing / dlcd ETS'&TTT

D). Valve sequence / dled 3JhH

Q 104. Which type of drive is not used to drive camshaft from crankshaft?
/ FHYATE T FAIMYC Bl S5 HIA & AT b UHIR DT 3T HI IUTAM
g farar wrar g2




A). Chain drive / 9 gled

B). Gear drive / firax glgd

C). Belt drive / d¢C S13d

D). None of these / ‘s’:rff I ﬁé :[_sof

Q 105. What is normally the function of lubricant in an engine? / TATAR
U3 U S99 H VP BT B T gidl 82

A). To reduce wear of moving parts / TfIHEE YT &1 9T $H S

B). To reduce loss of power due to friction between moving parts / HIGEIE
YT o S1d 980 & IR0 GIaR & - Dl HH BT

C). To reduce temperature of moving parts / TfAHETT HIT & YA B HH
HRAT

D). All of these / T gt

Q 106. Which type of oil pump for lubrication is most commonly used? /
Ve & AU Y USR &1 99 uu gay $f¥s Iy fmar Sran g2

A). Gear type oil pump / I UHIR &1 dd Uy

B). Rotor type oil pump / AT UHIR &I dd UY
C). Vane type oil pump / 39 UBIR &1 dd Uy

D). Plunger type oil pump / WS YHIT &I dd Uy

Q 107. This is the smallest diameter of a screw thread. / dg UM ug &I
IfSal 1 9Ty Bler A9 i 7

A). Internal thread diameter / IGIEGD T*{\Saf oAy
B). External thread diameter / dl&l T*{\Sof Ay
C). Minor diameter / BT g

D). Major diameter / dGI ATYH

Q 108. Which one of these is not one of the methods for supplying oil to
bearing surfaces? / S8 ¥ I 9 TH IR Fdg! U dd & MYfd &
ad®l § ¥ TP AT 82

A). By pressure / qdId gIXT[
B). By splash / f&S®Id g



C). By gravity / ﬂ??(_dT$EfUT QIxT
D). By grease gun / PICEKIGEE

Q 109. The type of fastener which is designed to prevent movement
between shaft and wheel is .............. / §YPH (BICAT) BT UHIR Sl MU
AR T & T IIdT B AHA & (AT 7971 TAT G -

A). Spring / i

B). Key / dTdl

C). Machine pin / AT fUT
D). Rivet / BId®D

Q 110. When describing screw threads, the distance from a point on one

thread to a corresponding point on the next thread is called ................ /
U9 & gfedl &t AT HId 904, TH gof U TH fdg ¥ dAHI 37Tall gof U
JaEU fdg db I g ____ HEdl

A). Flank / T (TUT%-H1T)
B). Crest / e (Rrav)
C). Lead / @IS (3UTM)

D). Pitch / fU=

Q 111. What do nuts and bolts use to distribute pressure over a larger
area? / ¢ 3R Siee TP 98 &F UR 919 fIaRd #3737 & IT o1 Iy HIa

87

A). Cotter pins / PieX U
B). Dowel pins / srad fu=g
C). Washers / areR

D). Rivets / Raec

Q 112. Which is the most basic form of ignition system in petrol engine? /
UCId §979 ¥ gsada- gundl &1 999 g§Harel =0 $I9 9 g2

A). Magneto ignition system /'Eﬁ}[a USad gume

B). Battery ignition system /a?_'ﬂ gSad Uumat

C). Coil ignition system / 0hT$Q1 Usadd JOme

D). Capacitor ignition system / S URIeY UsadT gumeh




Q 113. Pulse generator is a part of which system of an engine? / U
SRER 99 @ {$T yune &1 v |/ 72

A). Fuel system /EF‘?FT Umet

B). Ignition system / YUsdd+ LK
C). Lubrication system /@‘6’-_‘[ Ut
D). Cooling system / fraa@s gona

Q 114. There are two windings provided on the ignition coil. What are

they? / SR Bz YR &l I3 RLT UG FI St €1 3 AT &?

A). Low and high winding / g 9 3= argf=m

B). Minor and major winding / IITH\F‘ﬁ d yqyd Tﬂg%"[

C). Primary and secondary winding / myfe 9 maEfis GTE'%‘T
D). Short and long winding / B g ot GTQ%‘T

Q 115. Where is fuel feed pump located in a diesel engine? / Td Siold
99 ¥ YT i€ UT HQl YT gl g2

A). On the fuel tank / 'SE?F-[ ¢F U

B). On the injector / 5'@[35? °K}

C). On the injection pump / 5’@[332'[:[ Ug UR
D). Inside the fuel tank / 'SE?FT THF > H<aX

Q 116. What is fitted on a piston to ensure a good seal with the cylinder
wall? / I & faR R Ush =B Wd YRFT 39 & fag e ur &0
fo5e farar Sram g2

A). Piston pin / U fuT
B). Gaskets / RS

C). Piston rings / fUwes R
D). Piston rod /ﬁfE:T RUES)

Q 117. The speed of cam shaft in a 4-stroke engine is ................ that of
crankshaft. / 4-%I% 399 H HH MUC B! T3 FHAYE B HGI




A). Half / 3meft

B). Same as / JHIT

C). Double / g‘T:ﬁ

D). One-fourth / Q$—Eﬁ2ﬂ_ﬁc

Q 118. A vehicle is powered by 1.4 litre diesel engine. What does 1.4 litre
represent? / U AIg 1.4 oiieX SIVd §99 g1 Tarferd giar 81 1.4 otex &

CRUGIRE

A). Bore diameter / Y ATY

B). Engine cubic capacity / S99 U= &
C). Engine torque / S99 D

D). Horsepower / ETﬁtlT_q’T

Q 119. What is the function of radiator pressure cap in engine cooling

system? / 3919 HTT Ry & XU IR & &1 &1 FH1d g g2

A). To increase boiling point of water / -t & HYD DI dell

B). To reduce boiling point of water / =l & S YD B HH HIAI

C). To enhance speed of circulation of water / g+t & d9d9 &t 7fd dell
D). To prevent formation of scale / R[ch F 739 Bl AP & ﬁ'ﬂ:{

Q 120. The part of a diesel engine which stores energy during power
stroke is ../ SISTA S99 BT I HITT Sl TTAR WIH & QIR Sl bl TR Bl

e-

A). Crankshaft / %$QITFF‘C’

B). Connecting rod / FHAfaeT IS

C). Flywheel /Wg@a

D). Vibration damper / aTgaQT'_‘T %JIR

Q 121. What will happen if thermostat valve remains stuck in closed

position? / Ife YARe aica d¢ UMY & Tgar g @ 1 g2

A). Starting will become difficult / [ HIHI Jilr‘-l\wd Epf OITET]
B). Idling speed will be rough / \3‘II$5'I?1"I fd F3IR _5;[ GlTQTﬁ
C). Engine will overheat / S99 W%3d ¥ WTal TXH 8 ST
D). Engine will warm up slowly / S99 efiR-efiy e EPfTIT




Q 122. Which of these is considered to be a metal worker's pencil? / ‘s’?{ff

J 5 Aed aHI St YR Aq191 S1ar g2

A). Scriber / G PT TSR
B). Punch / EX

C). Chisel / &1

D). Screw driver / UgHYg

Q 123. The meter which is used to measure electrical resistance is

................ / e S faggd ufady &t Ar9a & fau Iud fear srar g -

A). Voltmeter / qrecHieY
B). Ammeter / ih:ﬂ_C’T

C). Wattmeter / greHtex
D). Multimeter / Aecidiex

Q 124. What will be the number of strokes per minute in a 4-stroke
engine, if it makes 1000 revolutions per minute? / 4—@$ '&"G[-_-T H ufq faqe
TP P G F1 1M, TR I8 Ufd e 1000 IFHI AT B2

A). 250
B). 500
C). 1000
D). 2000

Q 125. In a petrol engine, the air-fuel mixture is burnt in the ............... /
UH UCid s94 O, TaR-wga fayor # ysafeard g g

A). Cylinder / fafeisx

B). Intake manifold / 37‘[%$ ﬁﬁtﬁ@

C). Exhaust manifold / TS eI

D). Cylinder head / fgfds %3

Q 126. The stroke of an engine is ................ / T® S99 Bl Ej$

g



A). Diameter of the cylinder / s &1 1y

B). Length of the cylinder / RAdsY & Fffaﬂg

C). Distance between t.d.c. and b.d.c / t.d.c. GﬁT b.d.c. ® &I DI gﬂ
D). Length of connecting rod /$eﬂ%ﬂ ﬁgﬁamﬂé

Q 127. The opening and closing of engine valves in relation to piston
movement is called / fU%T FATAT & F§Y T 979 aTed & QA 3R §g A
P T STl 8|

A). Valve timing / dlcd agﬁm

B). Valve operation / dlcd ISERIE]
C). Valve action / dlcd UdR[H

D). Valve mechanism / dled BT

Q 128. Which of these is a semi-solid type lubricant? / S':Tff I EbS[:[ Yl Tdh
-3 UHIR HT WGP 82

A). Graphite / @rth‘r‘s'z

B). Mineral oil /@ﬁﬁ G|
C). Grease / MWW

D). Mica / HIS®I

Q 129. In an engine, water jackets are provided in ............. / Tdh 94 ff,
o & SFHcH H gerT ot Wt g

A). Crankcase / FHPY
B). Flywheel / TATS&Id
C). Connecting rod /Eﬁeﬂ(%"[ RIS
D). Cylinder block / s =ie

Q 130. Which mechanism is used to control the speed of an engine? / 394

ot fa & FIFd B9 & e 59 93 &1 IuwT Far s g2

A). Odometer / grdiex

B). Regulator /%H@IET

C). Governor / GEE

D). Speedometer / Trerdtex



Q 131. The ignition quality of a diesel fuel is indicated by ............ / T
SIS SY9 Bt ysgaq quigA B a1 Iefid fear ordan g

A). Octane number / 3ffgeT BT

B). Cetane number / fgeq dw@m

C). Both octane and cetane number / g 3?[? yea g Eﬁ:ﬁ ?3[
D). Neither octane nor cetane number / Al ar effge= = §f e g

Q 132. The sequence in which ignition takes place in different cylinders in
a multi-cylinder engine is called ......... / dg hH ISk Udh el Rdsy
99 ¥ fafyg Rdsi d ysa@a @lare, 98 ________ HEATd |

A). Ilgnition order / Usddd v H

B). Power order / Ura % H

C). Firing order / BIaRT %H

D). Cylinder order / i %A

Q 133.In C.I. Engine, fuel is injected when the piston .............. / C.l. 99
H, SYT ST ol g od fUes-

A). Is approaching t.d.c. at the end of compression stroke / H.tﬁ_s_':f Ej$ &
3(d U t.d.c. U UGT TG &Il &

B). Has just passed t.d.c. at the start of power stroke / IRy Ej$ &
TFMT A t.d.c. B O foam g

C). Is approaching b.d.c. at the end of induction stroke / SSaIT Ej$ &
3{d U b.d.c. UX UG I &Il §

D). Has just passed b.d.c. at the start of compression stroke / ﬂ'tﬁg'_‘f @$

& B H b.d.c. ® Uy fbar g

Q 134. The process of removing air present in the fuel system is called

............ / Y7 gomd & HigE ga1 $I g B ufhdr Bl

A). Cleaning / Wy

B). Filtering / fadeq

C). Bleeding / ST

D). De-contaminating / Q\I@T$?UT



Q 135. In diesel engine fuel system, what is located just before the

injector? / SISTd S99 YT JUMA §, S9de ¥ 31 Ugd T gidl o7

A). Fuel filter / Wd e
B). Fuel tank / WJd G
C). Lift pump / faue dy
D). Fuel pump / WJd ug

Q 136. Which part of engine exhaust system is meant to reduce sound
produced by escaping exhaust gases? / S99 Q‘GITE UMt BT HITIT HIT
1R e s areht A& A g1 IUF B T4 STaTS &l HH HIA & [ g2

A). Tail pipe / ed LIEL

B). Muffler / Hb X

C). Exhaust pipe / E”\_rﬁif urgyu
D). Exhaust valve / Q‘GTE’ dled

Q 137. The engine exhaust system has to do a number of functions. Which
one is not among them? / EE Q‘GﬁE UM Bl dgd IR BT HIA Hs.a %l
298 § ST I97 J T8 82

A). To take exhaust gases to the atmosphere / Ao a9t &t aTﬁfngT =i
NGl

B). To quench sparks / ISR EEIGI

C). To cool the engine / SN P T HIA

D). To start the engine / BNk &I R[> DAl

Q 138. Excessive smoke is usually emitted by diesel engine during
............... / d 97 g1 AAfY® Yo MAARUT P ARIA
IfTd giar g

A). Idling / 3TgSfeiT

B). Starting / Yo 3Id

C). Accelerating / ‘Tﬁfa?f:f
D). Decelerating / i r B3



Q 139. The unit which converts mechanical energy from the engine to
electrical energy is / dg& schl'ir S '5'\51'1 T gifAs SHof B ﬁ‘o:qa Sl o
gfvafdd &t -

A). Motor / e

B). Generator / G EEE

C). Transformer / E:[th—[ﬁT

D). Voltage-current regulator / e HIT 3{1@[3?

Q 140. The brushes in a dynamo are made of ................ / SIAH H 99
_______ ¥ 99 T4 B

A). Copper / didl

B). Brass / iG]

C). Carbon / HIa

D). Aluminium / QF\HIﬁﬁqq

Q 141. The concept of 'scavenge efficiency' appliesto ................ / TH A
gerdl B TR U3 @17 il 7|

A). Four-stroke engine / Lh\IQ—%g\IOh é\ﬂ*l

B). Two-stroke engine / §—@$ g4

C). Both four-stroke and two-stroke engine / / l—b\li—%g\IOb SR 3R §—@$
EERICE I

D). Neither four-stroke nor two-stroke engine / I ar Lb\li-%;?IOh SO AT gf
- KIP 97

Q 142. Where are the ports provided in a two-stroke engine? / a-@?ﬁ
$99 H U 3 Fet uad fbar ar 82

A). At the piston /ﬁE:T R

B). At cylinder walls / fafdsy e w)
C). At cylinder head /ﬁ[ﬁgq o a3
D). At piston rings / fUwd R uR

Q 143. What is drawn into diesel engine cylinder during suction stroke? /
TR KIH & I Siod g9 Rds § o Jiar ofrdl g2




A). Air alone / »ad arg
B). Fuel alone / »ad _se"d'_‘f
C). Mixture of air and fuel / dIY 3R E‘E?Ff cAREE|

D). Gas / ﬁﬂ
Q 144. Pistons are made of ................. as they have to withstand high
temperature and pressure. /ﬁ??f:f _________ T g4 Epf?f % b 3% 3=

ATgATT 3 adld Dl JTHAT HIAT Usdl %I

A). Cast iron / eddi F‘IETBT

B). Steel / SHId

C). Copper / didl

D). Aluminium alloy / TgHIATT iy urg

Q 145. In an engine, an oil sump is provided ............. / THh 394 ﬁ, AT d
9w _ Ul fear o g

A). At the top of the cylinder block / fafdisy s & My v

B). At the bottom of the crankcase / SHPY b dd H

C). Adjacent to the filter / fhey & Ade

D). In a separate unit away from the crankcase / %$$H I gX Udh AT
gfac 4

Q 146. During battery discharge, electrolyte is compensated by
................. / S8 fEwns & g, gI IAFIATST B MYff @

A). Lead peroxide / IS ﬁfraws’:c:
B). Lead sulphate / WS gAbT

C). Distilled water / AHT{d od
D). Oxygen / g

Q 147. How many microns are there in one mm? / U mm ff Irabd:I Hlsob\l"l

HGEE

A). 10 n
B). 100 u



C). 1000 p

D). 10000 p
Q 148. A good electrical conductor should have ............ / Th I ﬁqga
EINER] g1 e |

A). Low specific resistance / ﬁ'{;[ ﬁﬁ[? ufady

B). Medium specific resistance / H&H %ﬁw IGRIE
C). High specific resistance / 3™ fafry ufa’iy

D). Any specific resistance / a?ré ot ﬁﬁTE ufady

Q 149. The resistance in an open circuitis ..............ouuus / Uh Ngq gfbe
AFufady S g |
A). Zero / ][

B). Infinite / XA
C). Very low / dgd [y
D). Very high / dgd 3=

Q 150. Which of these is not an insulator? / i‘:"lﬁl'ﬁ cr?l-li-ll 5{1@16.1 "IE?I'%?

A). Air / dIg
B). Ebonite / Q@HT'&'E
c). oil / dd
D). Tin / fe4

Q 151. A thermistor is a type of resistor whose resistance is dependent
Upon ..oo....... / T 4w te uaR &1 ufadiy® gial ¢ Sae ufady
_________ R R wRar 7

A). Temperature / dIUHIA
B). Pressure / ald

C). Stress / dHTd

D). Strain /@%na

Q 152. A mallet used by a sheet metal worker is made of ................. / e
Aed gHR g ST fHar F17 a1l U dh St BT gUNS] CIRCEI|




GG

A). Lead / A

B). Brass / iG]

C). Hard wood / I¥d F’[$S°[
D). Cast iron / eddi FﬁgT

Q 153. A rough file is used ................... / Th Ih Yt BT YA BT S %’

A). On irregular job/ sifAafag '_'T'ELe[ Ur

B). When more material to be removed rapidly / SId 3% Trad & IS
geTT |

C). On wooden job / AHSI & AHA U

D). If smooth file is not available / gfe Ha It IuAS AT Eapf

Q 154. What is used to remove high spots from a surface? / Udh Hdg I

ISP Ysaf BY g2 & fIT 1 gAqT fbar S g2

A). Chisel / &1

B). Reamer / CIEEE
C). File / Xt

D). Scraper / ﬁq?ﬁﬁ

Q 155. What is the function of a plain washer? / HT%{ IR BT AT H1A E’Pf?'lT

87

A). To distribute force over a large area / Udh 33 E?fﬁ U3 99 faalkd &3
B). To distribute force to the nut / d¢ UX dd fgafva &3

C). To improve appearance of the job / :[Hef CAREECICL gYRAT

D). To fill the gap between the job and the nut / '_‘T'E[\af ARATH AT P
=AW DI HIAT

Q 156. A key is device used to ................ / ?Gﬁ
far S aTeN TH IUBR § |

A). Fasten together mating parts / Uh Y ﬁ@ I & &I
B). Start a machine / 7T &I Y= HIA



C). Stop a machine / AT B §g HA
D). Control a machine / 7T & AdfRd A

Q 157. Which of these hammers is the heaviest? / g1 g?ﬁ@ﬁ T J Draan
Iy U1 g1 g2

A). Ball peen hammer/iﬁa siE] E"QﬁS_T

B). Straight peen hammer / @AE iE E’??[ST
C). Claw hammer / gol _6'??[3.'[

D). Sledge hammer / T“ﬁ%ﬁ =3l E?ﬁST

Q 158. What will you use if flatness or squareness of a surface is to be
checked?/ I TH TAE B! GHAA AT GMBINGT B Sl BI ATl g1 o 3T
fbaHT gAqT B2

A). Slip gauge / @ A

B). Bevel gauge / RIS

C). Try square / a’?,ré P ‘Iﬁtﬂ
D). Height gauge / BIgC US|



LEVEL 1 ANSWER KEY

Question No. |OptionfQuestion No. |[OptionfQuestion No. [OptionjJQuestion No. |Option
1 B 41 D 81 B 121 C
2 B 42 B 82 C 122 A
3 D 43 B 83 A 123 D
4 A 44 A 84 B 124 B
5 C 45 C 85 A 125 A
6 A 46 A 86 D 126 C
7 D 47 B 87 B 127 A
8 B 48 C 88 B 128 C
9 D 49 A 89 D 129 D
10 C 50 B 90 C 130 C
11 C 51 B 91 B 131 B
12 C 52 D 92 C 132 C
13 B 53 B 93 C 133 A
14 A 54 D 94 B 134 C
15 C 55 C 95 B 135 A
16 D 56 C 96 B 136 B
17 B 57 B 97 C 137 C
18 A 58 B 98 B 138 C
19 C 59 D 99 B 139 B
20 B 60 B 100 A 140 C
21 C 61 B 101 B 141 B
22 A 62 B 102 B 142 B
23 B 63 A 103 C 143 A
24 C 64 D 104 C 144 D
25 A 65 D 105 D 145 B
26 B 66 A 106 A 146 C
27 B 67 D 107 C 147 C
28 B 68 B 108 D 148 A
29 D 69 D 109 B 149 B
30 B 70 C 110 D 150 D
31 A 71 B 111 C 151 A
32 C 72 B 112 A 152 C
33 B 73 A 113 B 153 B
34 B 74 c 114 C 154 D
35 A 75 B 115 C 155 A
36 B 76 C 116 C 156 A
37 B 77 A 117 A 157 D
38 C 78 C 118 B 158 C
39 B 79 D 119 A
40 C 80 B 120 C




MECHANIC DIESEL THEORY LEVEL-2

Q 1.In an engine, what opens the inlet valve? / U S ff, iﬂad ared &l
o GAdr 82

A). A lever / Tdh NG

B). A spring / Ud &

C). A cam / U®% &H

D). Pressure of gas / g BT cdld

Q 2. The height at which a bench vice from the floor is generally fitted is
.../ B ¥ 9 SIS U 99 159 AR UR AMS o<l §, 98 -

A). 125 mm / 125 ot

B). 106 mm / 106 THH

C). 90 mm / 90 f&#h

D). 80 mm / 80 fHH

Q 3. Which tool is suitable if nuts and bolts are to be quickly tightened or
loosened? / TfE AT 3R Siee & Tl ¥ HIAT AT el HIAT & A I AT
IUHIV IUGH §?

A). Ring spanner / 7 WA

B). Air ratchet / Qq?%af

C). Socket spanner / dihe WA

D). Monkey wrench /f[ﬁ R=

Q 4. In brazing, which property of filler metal makes it flow in small
clearances? / aﬁrﬂ'{ (Cicb'-ll) ff, PZASE Yrg ol I ur 3T dIc R o
gaIfed sl g2

A). Density / Ydd

B). Capillarity / FRIFT

C). Viscosity / IELIELICE

D). Melting point / TA-®

Q 5. A wrist pin connects ................. / Th Refos
A). Camshaft to push rod / FH G B gr Js T

B). Piston to connecting rod / e o gO9a s T

C). Connecting rod to crankshaft / IJOST AT B %$5|T§FE |
D). Crankshaft to camshaft / %$QIT1}_C’ P ST AR I

Q 6. Wheatstone bridge is used to measure ................ / %}TEEBI:T fos &1
ST Aargs & fae fear snar g |



A). Low value current / 3 HIH BT

B). Low value voltage / 3 HIH G| KSSiS|

C). High value voltage / 3= HI1 aree S

D). Resistance / ufady

Q 7. Which type of instrument is suitable for direct current only? / K|
fgse 411 & U f59 TSR &1 IUSHIV IuGad g2

A). Permanent magnet / T4l EECa

B). Electro-dynamic / SUdCI-SIA-IHD

C). Moving iron / dd 3T

D). Hot wire / TH dIR

Q 8. What is the unit of resistivity? / ufadiysar ot i‘acbl‘.ir 22 %?

A). Ohm / 3NH

B). Ohm - metre / 3Ny - Mex

C). Ohm/metre / Gﬁq/fﬁf?

D). Ohm/metre? / &ﬁtr/tﬁ?:'?z

Q 9. One of the pistons in a diesel engine is hitting on valve head. What is
the probable cause? / SI9Id $914 & U ¥ ¥ TH dIed MY ¥ TH T 5|
HUIfad S0 A/ 72

A). Main journal is worn out / ¥ S9d fog T %

B). Rocker lever is worn out / AHI etgy g 731 %

C). Valve timing chain is loose / dled as’ﬁ'm I ereft %

D). Connecting rod big end bearing has failed / FHHfaeT A 97 Us ST
AYHEY B AT §

Q 10. What is the function of delivery valve provided in F.I.P.? / F.I.P |

feu 73 fecitadt are &1 = H1Y 72

A). To prevent air lock in the system / RI%eH H TIR @ld Bl A Dl

B). To limit the pressure of fuel delivered / faafa gﬂ:f & qdld &I dfHa
HIAT

C). To prevent dribbling of fuel at injector spray hole / Q@IEET LsY) @'3 H
YT B g8 §¢ B TP B AP & Iy

D). To prevent high pressure fuel leakage from plunger / Wl~dIX T 3d Gl d
ECERSICRCARIEE

Q 11. On which type of engine Morse test can be conducted? / fog gaR
& 399 U Y gNe A o 9HdA § 2




A). Sl engines / SI ESE|

B). Cl engines / Cl $94

C). Multi-cylinder engines / ag-ﬁrﬁtﬂ ESEI

D). All of these / T gt

Q 12. What is the best sequence of tightening cylinder head nuts? /
s 2 9T B FIA T IIY HDBT HT T 82

A). In parallel sequence / AR HH H

B). In series sequence / ’}j@F’IT HAH

C). In mixed sequence / EIEGELE

D). In cross-wise sequence from the centre / FT HT@ HHH

Q 13. Which among the following types of engines has the highest fuel

efficiency? / RAff@d & @ 59 R & 99 # g 3ifd® Y7 gerar g
87

A). Radial engine /%%Ha EE

B). In-line engine / §1-dIgH B

C). V- engine/ V - Bk

D). Horizontally opposed engine / aﬁf\_ﬂ =T Y JHY Xd] =Sk

Q 14. What is the purpose of providing heat dam of a piston as shown in
figure given below? / EiE] %I{ RIRY CER:] _Q’Z‘ZTTI{ SR IPESE ] glic cE| Uard
B BT I AT 82

: _'_':]_i = ?

i |
| {
& | i

e o

A). To reduce the weight of the piston /fEfE:[ & HIR B HH HIAT

B). To balance the piston / fUwq &t ﬁﬂf@[ﬂ DAl

C). To enable the piston run cooler / U o CASES ENIEKT ]%‘UE HEH HhIAT
D). To keep the temperature of the piston uniform /ﬁR_C"_‘T dT dITHTA JHIA
RECE|

Q 15. What purpose does the fan in the engine cooling system serve? /

$o19 i Ried § U@ &1 1 I el B2

A). To cool the engine by blowing air over it / $~H8b $HUX gdl SIAHT 394
DI 8T HIAT

B). To increase the flow rate of the coolant / RIRNERCT Jdig aX Ca dell
C). To draw air through the radiator /%%E'c’? » A I Bdl Qg

D). To provide drive to the water pump / qr=t 4g &I 9Ied Uald d Xl

Q 16. Which component is located in the front end of the crankshaft to
drive the camshaft? / T WP IATH & ]%ﬂ;f HPUTY & ATH P UITT & HIA




1 3fgaq fyd grar g2

A). Pulley / EEEG|

B). Belt / §aC

C). Gear or sprocket / gz a1 &

D). Servo-drive / g4 - glgd

Q 17. The type of winding which is most suitable for producing high
starting torque in starter motor is ........ /ETEF? e 7 3| wIfén i
ST B & [T G99 IUGdd AEfET BT UHIR 3-

A). Shunt winding / 3T aTg%Tf

B). Series winding / IR ?:IT'%"%W

C). Compound winding / SIS dlé%‘l

D). Parallel winding / GHI=IX dIsfaT

Q 18. What does the symbol given below represent? / W= fear 7o gdfis
T gt 82

A). Air filter / TIR e

B). Dryer / SIUX

C). Lubricator / @f%’$

D). Regulator /%‘1@[3?

Q 19. What is the full form of 'SCR"? / 'SCR" I q\Uf XY I %?

a_n

A). Silicon Catalytic Reduction /ﬁ[ﬁfﬁq fafew Rea
B). Silicon Catalytic Regulator / RINCAEEAA NS \Q{LaCQ
C). Selective Catalytic Reduction / Idfdeg Fefifes R
D). Selective Catalytic Regulator / Jafaeg peforfes :{ﬂa?‘f?

Q 20. What is the colour of positive plate in lead-acid battery? / T:T_S'—U,ﬁfg

acd & uisifed we &1 37 &1 giar |2

A). Grey / I

B). White / I G
C). Brown / 3T

D). Black / &hIdl

Q 21. Which is the most common base material for integrated circuits? /

NS Ufhe & faT 99 oy ga qradt &9 it g2

A). Germanium / ATy



B). Silicon / gfasra

C). Gallium / ﬁﬁfqu

D). Carbon /Wﬁf:[

Q 22. A vehicle is classified as Heavy Commercial Vehicle, if its gross
vehicle weight (GVW) is ............ / TS I8 &I I A s a8 & &4
A giffed fear onar 8, afe I9® 9Fd argd a9+ (Gvw) T |

A). Not more than 4.2 metric tonne / 4.2 Iﬂ%$ 9 9 3Hfds :re?'

B). More than 4.2 metric tonne but less than 7.5 metric tonne / 4.2 IﬁE$
2 ¥ YD dfbd 7.5 @ifcd c7 9 HH

C). More than 7.5 metric tonne but less than 16.2 metric tonne / 7.5
Hifed ¢ ¥ ffds dfbd 16.2 Hifgd T3 I 0

D). More than 16.2 metric tonne / 16.2 IﬁﬁA$ T 9 AP

Q 23. Which of these systems in an automobile requires a non-return
valve? / STSIAIAISA & S8 ¥ S9! gonal # A9-Re ared &1 sraadh
gIal 82

A). Braking system /a%"[ ot

B). Fuel system / gﬂ:f JUMEr

C). Ignition system / USadd-Ugfd

D). Lubrication system / ég:f GE

Q24. A-B-C with reference to first aid means ............... / myTs
fafeen & Iy H A - B - ¢ FT HAAT B-

A). Aid - Breath - Circulation / Qg -9 Y - Hé?@mm

B). Airway - Breathing - Circulation / T\W?a - sifgT - H@ﬁ’ﬂq

C). Always - Breathing - circulation / Afaa - sifeT - Hé?@mm

D). At once - Breathing - Circulation / UC d-Y - &pﬁ%ﬂ - H§@f3ﬂq

Q 25. Which fastener is used when perfect alignment and quick
disassembly of parts is desired? / YT BT gl Y@ 3 d'g afa 3ra
HIA1 9 d 811 U g SYF ST IUAT fooam o g2

A). Circlip / gfedy

B). Dowel pin / giad fuT

C). Stud / ¥}S

D). Lock washer / Al arR

Q 26. Which component is meant to reduce noise from an engine? / ﬁ:fﬂT
GRSl TH S ¥ M1aTel HH S & [T g1 52

A). Inlet manifold / g:f@[?f ﬁﬁ‘ﬁc—s’



B). Tail pipe / ed CIER]

C). Muffler /f Hh X

D). Exhaust pipe / Q‘G’TE arsy

Q 27. In order to eliminate knocking in compression ignition engine, there
should be ............ ) GUred 3T 99 § We@WaIge &l g+ & fay, 39°
g =13y

A). Short delay period / ®H o B Srafy

B). Late auto-ignition / fadfad &ﬁe‘r-sﬁmq

C). Low compression ratio / 9 FWET Hqurd

D). High self-ignition temperature of fuel / 'SE‘EI:T Dl = ¥d-Usdlq draHr-
Q 28. What is radiator core normally made of? /\QI%QCQ Ob\lﬁ AT =Y ﬁ

fPTY g7 g1 82

A). Plastic / WiRe®

B). Brass / iG]

C). Steel / HId

D). Cast iron / eddi ?ﬁET

Q 29. Which of these will not result in producing more engine power? /
38 ¥ DI AP 97 Wfad &1 I A HRM?

A). Increasing swept volume / aa?r Eé YHIT HIAT

B). Increasing compression ratio / del g3 H'tﬁ_sf:f S{JUrd

C). Inducting more air/fuel mixture in cylinders / rded 7 sifdw aryg /
<Y o 3 URT HIAT

D). Heating incoming air in the cylinders/ RadsI # oM araht Bdl P TH
HIHAT

Q 30. One of the engine head gaskets used is MSL gasket. What is full
form of 'MSL'? / TN 814 a1d S99 88 N&be H J TH MsL NTHT §| 'MSL'
&1 quf =T F1 §?

A). Minimum Layers Steel /ﬁfﬁqq A" T

B). Maximum Layers Steel /fﬁﬁmn AT

C). Multi Layers Steel / Ow! g ©id

D). Major Layers Steel / AR dg9Y wd

Q 31. In order to keep valves cool, sometimes valve stems are partially
filled with ........... / dredl Dl 38T WA & I, dul-FH 1 ded & €H &l
fF TUF ____F U Tl g

A). Sodium / TfgTH



B). Potassium / tﬁ%ﬁTqI{

C). Calcium /%@qu

D). Carbon /Wﬁf:[

Q 32. Between dry liner and wet liner, which one in normally more
difficult to remove and refit? / Y AZAR 3N 7 AZA & oI, ST
3T AR U ger ok by & @M= # oifs &fe= gian g2

A). Dry liner is more difficult to remove and refit / b0 IgX Ca ® CI-l
3R 5™ @M 3% &7 ©

B). Wet liner is more difficult to remove and refit / 9H g P B Cl-l 3R
B3 am % H139 7

C). Both are equally difficult to remove and refit / <Al B ?[ qrHTEa ¥U 9
TTIAT 3R Ry @M= #1371 §

D). Unpredictable / a{qafaﬁtr

Q 33. The consumption of lubricating oil in an engine is found to be high.
Which one is not the likely reason for high consumption? / U®h EoE| A
fIes ard 99 @ @ud Y U e 51 I JUd BT AT SR HI4
o1 8l 82

A). Leakage of oil /?ra CARLEIIE]

B). Worn out piston rings / g gl fUwT ka1

C). Worn out valve stem and valve guide / e g3 dled XH MR ad
Mgs

D). Low oil viscosity / & H NAELIELILE

Q 34. An opening called 'air breather' is provided in the engine
lubrication system to the outside air. What does it prevent from
happening in the crankcase? / aTgﬁ edl " 94 Q_Ef:f et A 'YX a°r‘c:€'
AOF TH WY Uer a1 a1 g1 I§ hddhy

A). Humidification / &ﬂﬁ$?UT

B). Dehumidification / ﬁﬂﬁ$?UT

C). Contamination / ﬂgETUT

D). Building excess pressure / JAfIFH gaIg BT F91

Q 35. What is the type of nut shown in figure given below? / G %Q ma
o & 9T &1 usR T 72

A). Acorn /Q?Jb;f:f
B). Slotted /@\TI%TETT




C). Semi-finished / 3‘[@ qf\’@ﬁ

D). Wing / fd

Q 36. The engine cylinder head is made of ................... / S99 fds @1
- I 91 I §|

A). Brass / wad

B). Steel / HId

C). Chromium /ﬁﬁrtm

D). Cast iron / @Idl WIg

Q 37. The maintenance check list of a high mileage vehicle recommends
checking of engine oil on ............ basis./ TP I ATZAUS A8 & IWI@IT
& g gt YR TR IO 1A & i b! I8 ol g

A). Daily / ¢f®

B). Weekly / ATIfe®d

C). Fortnightly / U& H TUdh dR

D). Monthly / s

Q 38. Why a simple soldering iron has a copper bit fitted on a handle? /

TS YR fHT G o gUrsl & gf uR a@is &f foe of i gt 8 2

A). Melting point of copper is high / did &1 Tadie AfYF grar %

B). Copper has high resistance to wear / die | fawrg & ufd 3= ufaiy

g 8

C). Copper resists corrosion / didl &I P Aol %

D). Copper is good conductor of heat / dldl Hf ®1 3T gard %

Q 39. For tapping M 10 x 1.5 thread tap, what should be tap drill size? / M

10 x 1.5 g8 & ¢U & dIgd & fu, ¢U f3a &1 o1 1R g1 anrfgwe

A). 8.00 mm / 8.00 fHHI.
B). 8.25 mm / 8.25 A,
C). 8.50 mm / 8.50 T
D). 9.00 mm / 9.00 A4

Q 40. In engine lubrication system, the function of pressure relief valve is

.......... / 399 9T yone ®, URR RAlw ared &1 &1d gar gl

A). To set idling pressure / 31I$SR‘1"I a1 UT HIAT
B). To limit oil pressure / dd arg & AT S

C). To reduce oil pressure / ad Gl d P HYH HIAT

D). To increase oil pressure / qd a1 B 3D B




Q 41. In a micrometer, datum line and graduations are marked on

............. / U% HIgHIHex #, 3TH agF iR HhE 3fs R ffgd

A). Anvil / Tf9@
B). Thimble / IWd
C). Spindle / f&sa
D). Barrel / A

Q 42. The difference between the maximum limit of size and the minimum

limit of size is called ........ / MHR Bt AAHTH T 3N MMHIR B JAdH
fmF ST d fax bl HEl ol g
A). Fit / Tl

B). Tolerance / GGEE: (Heddr)
C). Basic size / IR® MHIR
D). Actual size / AIA® PR

Q 43. In a diesel engine, air and fuel mix together in the ............... / Th
Sd S99 &, gar 3R 34T # uHary A v g

A). Injector / _'5@[3??

B). Combustion chamber / b i¥d a'GN

C). Carburetor / W@ET

D). Inlet port / 3':[@[_6’ e

Q 44. Which type of engine layout has the highest fuel efficiency? / fog
OHIR & S99 AT & Tay s Y= & gkt 82

A). Radial engine /if%ua ESE

B). In-line engine / g1-dlgd ESE|

C). Opposed engine / AATS ESE

D). V' engine / 'V' BN

Q 45. In full floating piston pin............... / d T e 9 # -

A). Piston pin is free in piston bore and small end of connecting rod /
fTed IR R FAfRTIIAc F B AR A AT g giar g

B). Piston pin is tight in piston bore and free in the small end of
connecting rod /ﬁE:T X A U U9 s % AT IS F Be R F
god §

C). Piston pin is tight in small end of connecting rod and loose in piston

bore/ PAfRIIs F I AN ANTINT A MR TR A qa 8




D). Piston pin is tight in both piston bore and small end of connecting rod
/ T R SR FAfRT IS & B R # e 7 a1 grar 8

Q 46. The minimum number of compression rings in an automotive engine

iS e, / U SffcHifed 99 ¥ oW+ R of gad9 d=m HEll

A). One / Ud

B). Two / @&l

C). Three / GIE|

D). Four / dIR

Q 47. What is mounted on the front end of engine crankshaft? / ESE
FHIMYS & AT RR U T A JIal g2

A). Vibration damper / AISSYT SR

B). Fan pulley / o H?ﬁ

C). Timing gear / ETgﬁ‘T gz

D). All of these / T gt

Q 48. Camshaft in an engine is always mounted ............ / THh 394 |
FOMEC AR _____ SRINSCIR]

A). Parallel to the crankshaft / FHUMU S TR

B). Perpendicular to the crankshaft / SHUTUE P dgad

C). Inclined to the crankshaft / %$QIT1R' U T

D). In any position /%?ﬁ W fRufa A

Q 49. Which property of a lubricant is not considered desirable? / @[6’$ &
f& 7o S gBT TS AT A B2

A). Should be corrosion resistant / el gfavre EPHT EIT%Q

B). Should develop foam /q?m CEE] ElT%Q

C). Should have high boiling point / 3 ®Yi® I AT

D). Viscosity should not change with change in temperature/ dIJHIH |
gRadd & Wy faafaurgs 78 sga- Ay

Q 50. What property of a lubricant is represented by 'SAE40'? / 'SAE 40'

&1 W8P & b TU BT g2iar orar &2

A). Density / Ydd

B). Specific heat / oy o=

C). Viscosity rating / afarge g3 fRufzor
D). Boiling point / ®YdIdH



Q 51. Why is water sludge formed in the crankcase? / $HHT H T aﬁ%rs
& §9d1 §?

A). Due to mixing of fuel and oil /Eﬁﬂ:f A Ad & A o1 & B

B). Due to mixing of water and oil /UT:ﬁ AR AA & A 19 & BT
C). Due to mixing of fuel and water / %‘EFT MR U & fra 1 F FR
D). Due to mixing of water and air / Tt 3R aryg & fd o4 & SR
Q 52. One of the types of thermostat in general use in engine cooling

system is..../ S99 YA YOSt H IrATY IUAT H YHIRT & USRI & A
U% &-

A). Bellows type/ S UHIR

B). Box type / CIESRCEIES

C). Pack type / TP YBIR

D). Form type / BIH UPHIR

Q 53. In the liquid cooling system of an engine, what is the main function
of the fan? / S99 &I &9 Urda+ yone ¥, %9 &1 g &1 o1 il 82

A). To disperse engine fumes / Bk "E{Q CARaNIE]

B). To give air flow when engine speed is low / dlg Udlg ST 99 99 B
fd &7 8

C). To cool external surface of the engine / 5'5{7‘[ 3| aTE{fT qde ARG
HIHAT

D). To force hot air over cold cooling water / 38 %ﬁf"[ =t g3 7H Bdl
SIel-l

Q 54. Where does the coolant go after leaving the engine? / ‘é\rl"l HO:T @\Isq
¥ 91¢ fidd® S8l Srdr 82

A). Jacket / S&HT

B). Header tank / %‘6’? %

C). Collector tank / FARI ¢h

D). Pump inlet / ug 37-[@[3

Q 55. The lowest temperature at which oil gives off sufficient vapours that
can be ignited if brought in contact with a flame, is called........ / Iy HH
argETd forg uR 99 gl @i # 91w Al ¢ fY Saren & 9ush § A uR
gsaferd fear of god

A). Fire point / TTOX CIT'EZE'
B). Ignition point / Usdd-d EITEE'



C). Flammable point / CERI] tﬁgf
D). Flash point / t.FaQT WT_'&'_C’
Q 56. What is not true about electronic ignition system in engine? / 39

¥ ZAFRMS YT ey & I & a1 97 98f §»

A). No moving parts / Eblf_st faarT wrT q?ﬁ%

B). Contact breaker points required /W%TE THI tﬁg_c’ HTART h %

C). Longer life of spark plugs / W T Pt StaAafy dat Eﬁ?‘ﬁ %

D). Better fuel efficiency / éga? gﬂ:[ Q&dl %

Q 57. A pulse generator has three parts. Which part is in the shape of a
wheel with teeth? / T® U@ TR & oI YT 81d § | HIFAT U7 &idl gad
ufgd & SfeR H gl g2

A). Permanent magnet / TYTY §I§$

B). Timer coil / CISHY HIgH

C). Reluctor / Raaex

D). None of these / 3:fff I Ebaf'sc :ffﬁ

Q 58. The shallow depth type of combustion chamber in C.I. Engine has a
cavity ...../ C.I. 399 & AW SW UHR & g 9w A T3
»fad A 7

A). In the cylinder head /ﬁ[ﬁgq i gz

B). On the side of the cylinder / Rifdisy & Tdh dih
C). In the crown of the piston /ﬁﬂfq & HI3 H
D). Outside the cylinder / Rfdisy & digX

Q 59. A glow plugis .....ooovvvvvnnnn. / Q$Wﬁ1ﬂ"{ __________
A). Screwed in the combustion chamber / @81 D& H o1 @m %

B). Fitted in the inlet manifold /_&":T@f?f ﬁﬁlﬁc_s’ H qm ?ﬁ?ﬂ%

C). Fitted in the exhaust manifold / TWI AfAwI & 9 gidr §

D). A compression device / Uh TUIST IUHI 8

Q 60. What is the function of a capacitor in coil-ignition system? / ﬁga-
st Rew ¥ sufey (Fuka) &1 &1d T gian g2

A). Act as a mechanical switch / Tdh gifi® g9 & U & H1d Sl %

B). Transform the voltage / A B daddl %

C). Prevent arcing at the contact breakers / Hicd gHT U b J gTdl
D). Direct current to the appropriate plug / HIT DI SUYdd Wil A ﬁ%ﬁra
BT §




Q 61. The type of gauge used to check the gap between contact breaker

points is ........ / Bicde dHR fdgell & dig & 3ad &I g & Ay oy
UBR & IS T IuAT A A a8 g

A). Wire gauge / dIlUX S|

B). Snap gauge / LRI

C). Plug gauge / Wil |

D). Feeler gauge / CAGERI

Q 62. Various types of feed pumps are used in automobile engines. Which
one is not among them? / GI\IJC\IH\IGIIC\SG é\ﬂﬂ\l' H fAfNd UBIR & Hig Ul &1
TN a1 S1ar g1 S99 § S I8 ¥ 81 82

A). Vane type / CER°CIE

B). Gear type / gy g&R

C). Diaphragm type / SIUIWMIH UDhIX
D). Centrifugal type / ST UHIX

Q 63. The setting of fuel injection pump of a diesel engine, which keeps

an equal interval between the starting and ending of diesel injection, is
known as .../ SISIA §917 & YT SO UY S TITAT, Al SIAA SARIA &
UIRY 3R AT & iF Th AT 3

A). Calibration /%ﬁfaw{

B). Phasing / eﬁ%ﬂ’[

C). Priming / FITS'E[T[

D). Setting / afe

Q 64. The adjustment of engine to yield optimal performance and increase
engine's output, is called ........ / 3YTH U W BT 3R 399 &
3TITYT HI T¢I & AT 9 & JATAIST & HE oIl g

A). Engine tuning / S99 ?‘Ejﬁm
B). Engine calibration / ‘{;UI"I 2f>|r31§|52l'-|
C). Engine phasing / ESE aﬁﬁT‘T
D). Engine gauging / BN HISK

Q 65. Air injection system of fuel injection was originally used in large

stationary and marine engines. What is not true about this system? / gi‘l:f
EOARIT B TR ST YIS d ® 0 F §9 YT 3R 9gd 9741 & Iuam
&I STt At 9 gone & 91

A). It is now seldom used / g% Hefd 8 39 UG Bt Sl %
B). Air compressor in this system consumes lot of power / Y ot | TgR



HUIR, oSl ot 9gd WU HIAT @

C). It is light in weight and simple / g aﬁfqﬁgc_w'—f 3?[? q¥d _E?f?‘ﬁ%

D). The fuel mixture in this system is chilled by expanding air / ¥4 U
# 2y iy, g & YAR ¥ 7 fbar o1 §

Q 66. What is the special feature of pintle type nozzle? / ficd UsIR &
AT B @ fI>war 7 g2

A). It has a single hole / ‘s’iﬂrﬁ Qﬁfﬂ@'a Epf?ﬂ%

B). It has an extended stem to form a pin / gﬂﬁ fuq amﬁ%ﬁm Th
fawarid ¥ giar §

C). It is suitable for cold weather / Jg &S gy & fag SUYgdd g

D). It is designed for easy starting / Ug 3 Yo 3HTd & ﬁffq CEIEIRIEI %
Q 67. How is the fuel injection timing controlled in a distributor type
pump? / TP ST B & UU T Y9 ORI &1 sl g ga
frafaa &t ardt 82

A). Rotating the cam ring / &7 R 3 YH P

B). Changing the speed of rotor / eI Bt A7 95 B

C). Changing the plunger stroke / WX %g\loh Cal| dgcadhr

D). Changing the number of cams on the ring / 77 U $H B GBI deABR
Q 68. Which of these is driven by exhaust gases? /_s’:fff J 1 Ferg a9
g1 "aTfard g g

A). Turbocharger / ISR

B). Supercharger / ﬁqqiﬂ\_yf?

C). Both turbocharger and supercharger / TaraTeiR 3R ﬁqqiﬂ\_yf? ?ff:ﬁ gT
D). Neither turbocharger nor supercharger / I @ eafarsiy ey A _Gof
JURATSIR

Q 69. What type of air filters are generally used in high-speed diesel
engines? / 3 T aTd ST 971 H AR UR f5T UHR & TIR bR
(arg FTe) &1 IUAT fHar ST g2

A). Dry filters / ET% ey

B). Impingement filters / sﬂ-\q"\ﬂal'c fheed

C). Oil-bath filters / 3TUW-TY ey

D). All are in general use / gt grarg IuWT H %

Q 70. Comparing an alternator with a dynamo, it can be said that
.............. / TH ST & WY T 3HeeI-eR B Al HId §U, g Hgl o
Tl g fob-




A). Efficiency of alternator is higher than that of dynamo / 3eeIATY Bi
& STIAH F gaT H % §

B). Efficiency of dynamo is higher than that of alternator / SIYAH BT
el 3feexAey @ gadl § fi® g

C). Both are equally efficient / Q9 HTT U F G&f g

D). Difficult to say anything about their relative efficiency aspect / KRG
U ST Igq & IR H $3 |l e giRwa g

Q 71. If the battery polarity is reversed on a vehicle fitted with an
alternator, what is likely to happen? / T eI & 1Y I a8 U
gfg 9Td gadr &I f[Audd s far 1A, dF & A ST ™G 82

A). The lights will be dimmer than the normal /foT:ﬁ Qg q AfY®H H%[Fﬁ
gt

B). The semi-conductor device will be damaged / 31"t‘f—ﬂl(‘10b SUD T
&faus g1 s

C). The cut-out will not operate / PC-H3<C HIH :Tézf BT

D). The fan belt will slip / 9 9o had \_rlTQTﬁ

Q 72. What engine starting system is used for a single-cylinder engine of
bore less than 100 mm? / 100 . 9 o7 9 & Rina-Rfis B G ﬁ*m
B9 W 99 wIféT gt &1 uAT foar e g2

A). Hand starting / |08 wIfén

B). Electric starting / 3@[@$ Trfé

C). Compressed air motor starting / HUTS TR e wifén

D). Hydraulic cranking motor starting / ET%@%$ =T Arex wifén

Q 73. It is an instrument which is used to obtain p - V diagram of an
engine. What is it? / 98 U® 9 & p - V SITUH Bl W HIF Tl SUHI]
g1 | T8 I 82

A). Dial / SIUd

B). Indicator / 3%%3?

C). Gauge / S|

D). Meter / e

Q 74.If 'A"is the volume of air admitted to the engine cylinder during
suction stroke and 'D' is the piston displacement volume, then volumetric
efficiency is given by ......... /afe A IR We & 1T 394 [fds A
AR & ardl arg &I gRATo

A).A/D
B).D /A



C).A+D

D). A-D

Q 75. How are the engine valves rectified after they get damaged due to
hammering action? / SUIST T4 &I fhar & SR &fduw 817 & o1g g9
& AT HY 3P BT A1d g2

A). By brushing / dX[ HID

B). By grinding / ﬁﬂ:ﬂg g0

C). By facing / GG gIxRT

D). None of these/ ‘s:rff | ﬁ"&c :T?T

Q 76. What is the best sequence of tightening the cylinder head nuts?/
sy MY & 9 & FIA FT 99 IUYFd HH T §?

A). Parallel sequence / AT hH

B). Mixed sequence / ufyg w7

C). Series sequence / %j@?ﬂ HH

D). Cross-wise sequence from centre / G| \’rIT@ S{JhH

Q 77. The clearance volume in an engine cylinder is more. What is its

effect? / 399 RIAsI # Rt &t aran ifds g1t 81 sTHT 393 |1 gl |2

A). Compression ratio decreases / ﬂ"ﬂg'_‘f STJUld ®H Epf SIlTdl %

B). Compression ratio increases / H'tﬁ_s_':f SIUld dedl %

C). Combustion is incomplete / @8 YT Xg SIIdl %

D). Compression temperature is excessive / ﬂ.tﬂg:[ GILEIERRIRED EPTHT %

Q 78. How is engine operation affected if cam lobes are worn out? / 37}

T dAreg g 91d & 4l S99 a9 I yHIfad gidr g2

A). Volumetric efficiency decreases / G{ﬂrﬂtﬂ G&ldl Uc SiGI %

B). Valve opening height increases / dlcd {3,01:| Ci \\’;)tllé de Gﬂ?‘ﬁ%

C). Valve clearance increases / dled IBEQE] de STt %

D). Engine life decreases / S99 & Sta-Tafd &H g ST g

Q 79. Which instrument can be used to check taper and ovality of
crankshaft journal?/ ¢UR 3 HH AU 1A Bl ASTHIAT B T & fIT
5T ITHIO ST UAIT fHa1 o Il g2

A). Bore gauge / CIERI

B). Feeler gauge / BIaT 79

C). Micrometer / IIT'EZEIOAIIF[E?

D). Inside calliper / STHIZS HAUR




Q 80. What does normally indicate that atmospheric air is entering the
water cooling system of a multi-cylinder diesel engine? / dIHY U R |
GHd HIa1 ¢ [ argusdia ga1 us 9g-RdeR S9d 399 & 9d daad
Jonel H Ud% $H I§! 82

A). Engine overheats / ETE] 3w ‘Tfffﬁ Sildl %

B). Coolant becomes viscous / PIRGEAELIEL] ?ﬁ ofldl %

C). Coolant becomes reddish / dads ard I B %P[ oIrdrl %

D). Coolant becomes greenish /Qﬂ?‘[a$ Bl Eﬁ Sfldl %

Q81. A ..o hole is used when a fastener must be flush with the
surface of the part. / T ¥ B IUAT A9 &1 1T § TS TH

IR Bl HITT BT Idg & 1Y GAR far S |

A). Countersunk / CARLELIC

B). Counterbored / FIITIAS

C). Spot faced /FCITE' iopac

D). Tapered / eUs

Q 82. Angle of throw is fixed so as to make the engine running balanced.
What is the angle of throw for a 6-cylinder engine? / 3o & IATAT B
Ggfad 999 & AT ed offw o Fad fear onar g 6-Rifdier 99 & fau
e S o o1 g2

A). 60 degrees / 60 st

B). 90 degrees / 90 KR

C). 120 degrees / 120 f&Ut

D). 180 degrees / 180 fsit

Q 83. One of the pistons of a diesel engine hits on valve head. It is due to
......... /STAEHT S VN A IS qTed AR IR eHAA S| I8 &
P11 BT T

A). Wearing out of main journal / ¥ S+d & g oA

B). Wearing out of rocker lever / Ap3 drax & g o

C). Valve timing chain becoming loose / dlcd ET‘s'ﬁ[‘T IJ9 & ed E?f ST

D). Failure of connecting rod big end bearing / FHHfaeT IS 97 us SR
! A g oA

Q 84. Battery plates get buckled due to .............. / ST 1@[?{9 ________ &
B0 GG STl B |

A). High specific gravity of electrolyte / sad@ﬂlﬁd & I fafry o
B). Over-filling of electrolyte / 3?[3@?]’[53 CARIRE NI



C). Over-charging of battery / I8 & ffe I ?fef
D). Low specific gravity of electrolyte / 3@[3@@33 & g ﬁﬁTE’ Ied
Q 85. What type of threads are used in spindle of bench vice? / CE GIERS

¥ fsd A 5y uyerR & gfeal &1 Iudm fear srar g2

A). Buttress threads / §e3Y IS

B). Acme threads / Qaﬁf DG

C). V' threads / 'V' D)

D). Square threads / ¥IUX DK

Q 86. According to the 20-hour rate, a battery that can deliver 5 A for 20
hours with the cell voltage remaining above 1.75 V would be rated at ..../
20-92 X & AR, TH g Ol 1.75 v ¥ FHUR T4 I dlecd & @Y 20
¥e & fau s A fgafka w3 9wt g, 9%

A). 6 Ah

B). 8.75 Ah

C). 35 Ah

D). 100 Ah

Q 87. An edge or border made by folding, which stiffens the sheet of
metal and avoids sharp edges is called ........... / de g} Jd471d7 7T Uh
foha131 a1 STER, S Ug ) 2T B ST HIAT & MY AW B § Frar 3
_______ HEATA B |

A). Hem / %I[

B). Seam / aipe|

C). Notch / :ﬁﬂ

D). Nibble / HEd@

Q 88. Which sheet metal is uncoated iron and corrodes rapidly? / DI

uTg UF SAfUd el gial § SR dst & HenRkd g1 oran g2

A). Black iron / &Tdl FﬁET

B). Galvanized iron /Gfﬁ FﬁBT

C). Tinned iron /waiav T“I}fET

D). None of these / E':Tff I Tﬁ% '_-fézf

Q 89. What is used if a broken tap is to be removed? / gfe §% gq qd Ca
geTaT ST § @ 91 ST S S g2

A). Tap disposer / ey femer
B). Tap wrench / ey fkg



C). Tap extractor / %1'.[ QW%EE?
D). Tap nut / 2y AT

Q 90. How should a taper shank drill be removed from the machine

spindle? / AR fAisd ¥ Tux A% 3 & I gerar s Arfew?

A). By using tang of a file /%\_‘ﬁ & ST BT YA HID

B). By using a drift / %qf BT TN HIDH

C). By using a punch / ¥CH B YA HIH

D). By using a hammer / g?ﬁ%’ PT AT HIDh

Q 91. Which of these materials is used for making grinding wheels?/ E':T'Ef

q DI A FrEd B IuAT Uy uffu 9917 & fqu fFar snar g2

A). Sand /%H

B). Calcium carbonate / %%ZT?TH CAGIE

C). Silicon carbide / IBINCIG W@fgg

D). Granite / ﬁmga

Q 92. When grinding soft material, chips wedge into the cutting points of
the wheel. This is known as ............ / g wqdt @ qigd 99y, s ufgd
& Preq ard fagsff & siew od €1 98 ATH I ST ST g |

A). Glazing / ﬁﬁm
B). Loading / g
C). Dressing / éﬁm
D). Truing / E_&'Tf



Level 2 Answer Key

Question No. Option Question No. Option Question No. Option
1 C 41 D 81 A
2 B 42 B 82 C
3 B 43 B 83 D
4 B 44 A 84 C
5 B 45 A 85 D
6 D 46 B 86 D
7 A 47 D 87 A
8 B 48 A 88 A
9 D 49 B 89 C
10 C 50 C 90 B
11 C 51 B 91 C
12 D 52 A 92 B
13 B 53 B
14 C 54 B
15 C 55 D
16 C 56 B
17 B 57 C
18 C 58 c
19 C 59 A
20 C 60 C
21 B 61 D
22 D 62 D
23 A 63 B
24 B 64 A
25 B 65 C
26 C 66 B
27 A 67 A
28 B 68 A
29 D 69 C
30 C 70 A
31 A 71 B
32 A 72 A
33 D 73 B
34 D 74 A
35 A 75 B
36 D 76 D
37 A 77 A
38 A 78 A
39 C 79 C
40 B 80 C




